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_MARKS: 300 TIME: 180 MINUTES
. 1A The process whereby indigenous people are empowered in
SECTION A: COMPULSORY development is called ...
QUESTION 1: 50 MARKS - 25 MINUTES A Skills Support Programme (SSP).
Topic of this question:; Learning outcomes covered: B Black Economic Empowerment (BEE).
SHORT QUESTIONS LO1—LO4 (AS1 - AS4) C  Industrial Development Zones (IDZ).
SECTION B: ANSWER ANY THREE QUESTIONS FROM THIS SECTION. 118 South Africa's agreement with the WTO is to ... trade.
QUESTION 2: 50 MARKS — 25 MINUTES A liberalise
Topic of this question: Learning outcome covered: B rationalise
MACROECONOMICS LO1 (AS1—AS4) C  nationalise
QUESTION 3: 50 MARKS - 25 MINUTES 1.1.8 An indicator related to price changes is the ...
Topic of this question: Learning outcome covered: )
MICROECONOMICS LOZ2 (AS1 - AS3) A Caonsumer Price Index (CPI).
B Eccnomically Active Population (EAP).
QUESTION 4: 50 MARKS - 25 MINUTES C  Gross Domestic Product (GDP).
Topic of this question: - Leamning outcome covered; ) ) N ) .
ECONOMIC PURSUITS LO3 (AS1— AS4) 1.1.10 During periods of inflation people's real disposable inccme tends
16 ...
QUESTION §: 50 MARKS - 256 MINUTES
Topic of this question: [ Leaming outcome covered: f  Hetfease
CONTEMPORARY ECONOMIC ISSUES | LO4 (AS1— AS4) (B: ﬁ::';;g““m“‘-
QUESTION 6: 50 MARKS ~ 25 MINUTES
Topic of il Guestion: [eaming outcomes covered. 1.1.11 gneﬂ?f;]l:lg m_ain reasons for the increase in international tourism to
MACROECONOMICS AND LO1 (AST - AS4) sl LR
CONTEMPORARY ECONOMIC ISSUES | LO4 (AS2) _ A the appreciation of the rand.
SECTION C: ANSWER ANY TWO QUESTIONS FROM THIS SECTION. B low tax rates.
C  peaceful political transformation.
QUESTION 7: 50 MARKS — 40 MINUTES ) ) o )
Topic of this gueston: Laarng e — 1.1.12 :::t:ﬁ;ziﬁ?yntﬁlzi arT important role in maintaining environmental
| MACROECONOMICS LO1 (AS1) B
QUESTION 8: 50 MARKS - 40 MINUTES A guoctas.
Topic of this question: Learning outcoma covered: s
: : iti 24
MICROECONOMICS ‘ LO2 (AS1 + AS3) = eimeiee. (exy
QUESTION 8: 50 MARKS — 40 MINUTES
Tapic of this question: Learning outcome covered:
ECONOMIC PURSUITS LO3 (AS3)
QUESTION 10: 50 MARKS — 40 MINUTES

Topic of this question: Learning outcome covered:

CONTEMPORARY ECONOMIC ISSUES | LO4 (AS1)
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2 Give ONE term for each of the following descriptions by choosing a term from

SECTION A (COMPULSORY) the list below. Write only the term next to the question number {(1.2.1 - 1.2.5)

in the ANSWER BOOK.
QUESTION 1 : S .

social security grants; central bank; foreign exchange market; money
1.1 Various options are provided as answers to the following questions. Choose market capital market; deregulation; commercial bank; regulation

the correct answer and write only the letter (A — C) next to the question

1.21 A market for short- i |
number (1.1.1 - 1.1.12) in the ANSWER BOOK. markst for short-term savings and loans
122 The removal of laws and other forms of government control
1.11 The new economic paradigm is embedded in ... policy/policies. . .
1.2.3 The most important source of income for the poor
A demand-side 124 The institution monetarists use to combat inflation
B  supply-side
C  demand and supply-side 125 The market for international currencies (5x2) (10)
112 The government's medium-term expenditure framework (MTEF) 1.3 Choose a description from COLUMN B that matches an item in CDLUMN A
provides an outline of income and expenditure for the next ... Wirite only the lefter (A — ) next to the question number (1.3.1 = 1.3.B) in the
years. ANSWER BOOK.
A faur | COLUMNA | COLUMNB
B three 11341 Economic A the guantity demanded egquals the quantity
C two | development supplied
113 If the rand/US dollar exchange rate changes from R6,80 to R7,00 132 Normal profitfor | B an increase in the capacity of the economy
to the dollar, then ... business 1o produce more
A imports will increase. 1.3.3 CPIX C inflation rate excluding items from the CPI
B the number of American tourists to SA will decrease. | that have highly volatile prices
C  exports to the USA will increase. 1.3.4 Short-term
equilibrium D  aftracting infrastructure and businesses to
114 Telkom is a typical example of ... underdeveloped areas
135 Core inflation |
A an oligopoly. | E  an increase in the standard of living of the
B aperfect market 1386 Critical population
C  amonopoly. infrastructure
programme F  cash grants for projects that require new,
1.1.5 A condition where a market does not allocate resources to achieve ) expanded or improved infrastructure
the greatest possible consumer satisfaction is called ... 1.3.7 Spatial
development G marginal revenue = short-term marginal
A market power. initiatives cost
B market failure.
C  market equilibrium 1.38 Economic H inflation rate excluding mortigage bond
growth interest rates
116 The market strategy used by oligopclies fo attract customers and
increase their market share is called ... I average cost = average revenue (8x2) (18)
A price differentiation. TOTAL SECTION A:  [50]

B free competition.
C  limited competition.
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SECTION B QUESTION 3
Answer any THREE guestions from this section in the ANSWER BCOK. 31 Choaose the correct word(s) from those given in brackets.
QUESTION 2 T | The main objective of the Competition (Commission/Tribunal) of
South Africa Is to investigate and evaluate restrictive business
21 Choose the correct word(s) from those given in brackets. practices.
2.1.1 Countries that experience fundamental balance of payments 31.2 To enumerate and evaluate the total social cost and benefits
problems are usually assisted by the (World Bank/IMF). associated with an economic project, a (feasibility study/cost-
benefit analysis) should be done.
212 The redistribution of income is essential in a (command/market)
economy. 313 High development costs can be a possible reason for the existence
of afan (perfectimperfect) market.
213 In economic forecasting, methods based on opinion and
understanding are referred tc as (quantitative/judgemental). 314 A monopolistic competiter is able to make (normal/feconomic) profit
over the short and the leng term. (4x2) (8)
214 The output produced in South Africa by a French-owned company
is part of South Africa’s (GDI/GNI). (4x2) (8) 3.2 With reference to oligopolies, list any THREE forms of non-price competition.
(Bx2) (6
22 Name THREE types of foreign exchange rate systems. (3x2) (B
Copyright reserved Piease tumn cver Copyright reserved Pleass turn over
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2.3 Study the diagram below and answer the questions that follow. 3.3 Study the graphs below and answer the questions that follow.
THE EFFECTS OF MARKET FAILURE
Index of T GRAPH A GRAPH B
economic
activities Cost ¢+ D 81,8 Pricet
-
Trend line L ..
P, 2
[ P
Pl
Do
S1 SD i H
0 i ! > i : .
P Q1 Q Q Q1
Time Quantity Quantity
3.3.1 Define the concept extemnality. (3)
2341 Define a business cycle. (3) 332 Which ONE of the above graphs indicates a negative externality? 3)
232 Identify the labels for the following periods in the business cycle as " . -
indicated in the above diagram; 333 Give TWO examples of positive externalities. (6)
(@) Upswing or expansion 334 Which demand curve in GRAPH B represents the social benefit? 2)
(b} Length or duration of a cycle @x3) 6 338 Explain the impact of positive externalities on costs/prices and
233 At which pointphase in the above diagram will unemployment ba UBIRie BRRoAte.. et iR ISEiRn grapt:=pans ©)
aritE ighests @ 34 Discuss collusion by oligopolies. (4x4) (16)
234 Name ONE exogenous factor that gives rise to business cycles. (3 [50]
2.3:5 Explain how government can stimulate economic activity in an
effort to smooth out cycles. (3)
2386 Name the method of predicting future business cycles based on
the patterns of previous ones. (3)
24 Explain the reasons for public sector failure. (4 x4) (18)
[50]
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QUESTION 4 QUESTION 5
4.1 Choose the correct word(s) from those given in brackets. 5.1 Choose the correct word(s) from those given in brackets.
4.1.1 Decisions by central banks 1o influence interest rates are included 51.1 The policy tool used to control the inflation rate is known as
in the (monetary/fiscal) policy. inflation (hike/targeting).
412 Purpose-built industrial estates which are physically enclosed or 5.1.2 Spending by international tourists can be regarded as

linked to an airport, are called (IDZ/SDI). (income/service) receipts.

413 South Africa is classified as a (developed/developing) country. 51.3 During times of serious depression, such as the Great Depression

of the 1930s, (hyperinflation/defiation) occurs.
414 Eccnomic boycotts lead to (forcedfvoluntary) import substitution.

(4x2) 8 514 Tourist taxes are mostly used as a source of (improving tourist
o ‘ facilities/revenue). (4x2) (8
42 List any THREE characteristics of developing countries. {(3x2) (6)
5.2 Name any THREE groups disadvantaged by inflation. (3x2 (B)
Copyright reserved Please turn over Copyright reserved Please turn over
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4.3 Study the graphs below and answer the questions that follow. 53 Study the information below and answer the questions that follow.
South Africa in the process of change KEY TO ASGI-SA B
GDP AND PRIVATE CONSUMPTION EXPENDITURE ( ™ 'South Africa — are we cool or are we cooll' With these words, South African
WFGEI GROWTH | BALANCE OF PAYMENTS deputy president. Phumzile Mlambo-Ngcuka, officially opened Indaba 2008,
45000 ‘ Africa's premier tourism and travel expo, in Durban.

o000
15000
0
-15000

In her speech, Miambo-Ncguka emphasised tourism's potential to achieve the
goals of Accelerated Shared Growth Initiative for Scuth Africa, which are to
boost economic growth to 6% by 2010 and halve poverty and unemployment by
2014.

-10000 However, the South African government is aware of the importance of an
enabling environment for the tourism industry. This includes issues like political
Pood¥ DeCa Rl Dene stability and a reliable, modern infrastructure. "'We are also working on an airiift
O Balance on current account B Financial account | strategy that will increase air slots in line with demand. Furthermore, we need
\. / | an efficient and reliable visa regime. In our case, we are working towards a
[Source: US Business Schooi, 2007] Southz_arn African Developmen_t Cpmmunlry (SADC) uni-visa that will facilitate
travel in all of the SADC countries.
431 Define the term economic indicator. (3 [Aaaptedtramizindaad, 3 May, 2000
43.2 Which economic indicator can be used by the South African Sty Which macroeconomic strategy of the government is closely linked
Reserve Bank to curb private consumption expenditure? @) to tourism? (3
433 Name ONE institution in South Africa that publishes regular 532 According to the above passage, which TWO factors would help to
detailed data on some of the most impertant economic indicators. (2) create an enabling environment for tourism? (4)
434 From December 2002 to December 2006 a big difference between 533 What is meant by uni-visa? ()
consumption and production occurred. What impact did this
phenomenon have on imports? 3) 5.3.4 Give THREE reasons for growth in the tourism industry in your own
words. (5]
4.3.5 The current account of the balance of payments shows a very )
strong resemblance (mirror image) to private consumption 5.3.5 How does tourism benefit households and businesses? (4)
expenditure (PCE). Give a reason for this. (3)
) . o 54 Discuss pollution in terms of environmental sustainability (4x4) (18)
438 Which producticn-related economic indicator can be used to [50]
establish the performance of the economy in terms of growth?
State any TWO uses of this indicator. (7)
4.4 Compare South Africa's growth policies in terms of international benchmarks.
4x4) [16]
[50]
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QUESTION 6
6.1 Choose the correct word(s) from those given in brackets.
8.1.1 Local capacity building among (indigenous/endogenous) people is
a crucial aspect of sustaining the environment.
6.1.2 The natural resources of the world are destroyed because of

(tourism/overconsumption).

B.1.3 Taxes on output or consumption, which are charged for the
adverse effects on the environment are {(excise / green) taxes.

614 The (Monetary Policy Committee/Minister of Finance) considers
inflationary conditions to decide on suitable monetary policy
actions. (4x2) (8)
6.2 List any THREE reasons for the existence of a public sector. (3x2) 8)
Copyright reserved Please turn over
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8.3 Study the table below and answer the questions that follow,
[ BALANCE OF PAYMENTS
SOUTH AFRICA — AN EXTRACT
2006
(R millicns)
A.  |Currentaccount
1.1 | Merchandise exports 398 532
1.2 | Merchandise imports 476 545
1.3 | Net gold exports 35 470
1.4 | Service receipts 81 353
1.5 | Payment for services 96 950
1.6 | Income receipts 40 234
1.7 | Income payments 75 990
1.8 | Current transfers (net receipts) -18 494
Balance on current account 7
2. Financial account
2.1 | Direct investments - 47 350
2.2 | Portfolio investments 130 583
2.3 Other investments 18 278
| Balance on the financial account 102 511
Unrecorded transactions 39 466
- [Source: SARB Quarterly Buiietin, June 2006]
6.3.1 Define the term balance of payments. (3)
6.3.2 Name ONE other sub-account or component of the balance of
payments. (3)
B.3.3 Name the item in the financial account which will contain shares
bought by foreigners. (3)
634 Why is gold entered as a separate item on the current account and
not as part of merchandise exports? (3)
635 Calculate the balance on the current account (Show ALL
calculations.) (8)
6.4 Use appropriate examples and explain how indigenous knowledge systems
(IKS) will promote tourism in South Africa. (16)
[s01
TOTAL SECTION B: 160
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SECTIONC
Answer any TWO questions from this section in the ANSWER BOOK.
l. Essay responses must include an introduction, bady and conclusion:

= For the introduction and conclusion 5 marks will be allocated.

+ In addition, 5 marks will be allocated for the interpretation of the topic and
language usage.

+« A maximum of 40 marks will be allocated for the body.

l Other long responses:

» For the presentation of facts (cognitive context), 5 marks will be allocated.

= In addition, 5 marks will be allocated for the interpretation of the topic and
language usage.
= A maximum of 40 marks will be allocated for the body.

1. Long responses where a letter is required:

= 5 marks will be allocated for the format of the letter, as follows:
o 3 marks for the salutation
o 2 marks for the closing

« 5 marks will be allocated for the interpretation of the topic and language
usage.

¢ A maximum of 40 marks will be allocated for the body.

QUESTION 7

An open economy circular flow model illustrates the ecocnomic interaction between the
four participants.

Describe this interaction in detail with the aid of a diagram, which includes injections
and withdrawals.

Conclude your answer by explaining how one individual's spending becomes another
person's income (the multiplier effect). (max.10)

QUESTION 8

'‘Markets are at the centre of economic activities and provide the dynamics for the
performance of economies.’

Discuss perfect competition as a market structure with special reference to the
definition and characteristics.

Conclude your discussion with reasons why you would not participate in the market
under conditions of monopolistic competition.
(max 10)

Copyright reserved
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QUESTION 8

'The opening up of foreign trade ... sometimes works a sort of industrial revolution in a
country whose resources were previously underdeveloped.' (John Stuart Mill)

Discuss the arguments in favour of a policy of protection and critically evaluate the
South African international trade policies and major protocols regarding free trade.
QUESTION 10

'Scuth Africans are getting stronger. Thirty years ago it took five people to carry fifty
rands worth of groceries. Today a child can do it.' (Anonymous)

Write a business letter to the Governor of the Reserve Bank, explaining the causes
and impact of inflation on the poorest of the poor. Suggest possible measures to
combat inflation.

Address: South African Reserve Bank, PO Box 427, Pretoria, 0001

TOTAL SECTION C:

GRAND TOTAL:
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SECTION A (COMPULSORY)
QUESTION 1
14 Various options are provided as answers to the following questions,
111 C {demand and supply-side) v~
1.1.2 B (three) v'v
113 C {exports to the USA increase) vv'
1.1.4 C (monopoly) ¥ v
1.1.5 B (market failure) v'v'
1.16 A B, Cvv
1.1.7 A (Skills Support Programme)
B (Black Economic Empowerment ) v+
1.1.8 A (liberalise) v'v
1.1.8 A Consumer Price Index (CPI) v«
1.1.10 A (decrease) v'v
1.1.11 C (peaceful palitical transformation) +'v
1.1.12 A (guotas) [24]
B (taxation) v+ (12x2)

1.2 Give ONE term for each of the following descriptions by choosing a term from
the list.
1.2.1 money market / money ¥ v
122 deregulation v
1.2.3 social security grants v+
124 central bank ¥+
125 foreign exchange market / foreign exchange v'v' (5x2) [10]
1.3 Choose a description from COLUMN B that matches an item in COLUMN A.
1.3.1 Evv
1.3.2 Gl
1.3.3 H ¥
1.3.4 AIG Y
1.3.6 Cvv
1.36 F v
1.3.7 Dvv
1.3.8 Bvv (8x2) [16]
[50]
Copyright reserved Please wum over
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SECTION B
Answer any THREE questions from this section in your ANSWER BOOK.
QUESTION 2
21 Choose the correct word(s) from those given in brackets:
211 IMF v
2.1.2 market v'v’
213 judgemental v
214 GDI v'v (4x2) {8)
22 List THREE types of foreign exchange-rate systems.
s Fixed vv
« Free floating / flexible v'v
s Managed floating / Controlled floating v+ (3x2) [1(3
2.3 Study the diagram and answer the questions that follow:
2.3.1 Refer to successive periods ¥ of increasing (expansion/upswing)
and decreasing (contraction/downswing) ¥ economic activities v
OR
Successive periods v of economic ¥ fluctuations v (3)
232 (a) CDE/CE v'v¥
(b) CG/AEv¥Y¥ (2x3) (6)
23.3 Point C / point G / trough «'+ (1x2) (2)
2.3.4 = inappropriate government policies / interventions + v
+ change in money supply ¥ '~
+ climatical conditions (sunspot theory) v'v' v
» shocks (e.g. war, major increase in fuel price) v v' v
« structural change to the economy '+ v
+ technology v v v 3
« accept any other relevant factor from an approved resource (1 x { 3
2.35 » Using expansionary monetary policies v'v v
» Reducing interest rates v+«
= Expansionary fiscal policies v’ v+
» Reduecing tax v+
» Increased government expenditure v v'v'
Any other relevant examples (max 3) (3

Copyright reserved
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238 Extrapolation v'v'v" (1x3) 3)
[20]
2.4 Explain the reasons for public sector failure.
» Politicians tend to promote policies and spend money on projects as long
as they get votes in return. v'v*
These policies might involve an inefficient allocation of resources. v v
= Many public sector entities lack capacity because of a shortage of skills /
management failure / Bureaucracy v+
This means that funds are often left unspent and then returned to the
treasury. ¥+
s Lack of accountability / Parastatals (public enterprise) v'v'
leads to inefficiency, corruption / crime, and poer service delivery. v'v
« Lack of motivation / apathy v~
Workers rarely receive incentives for successful service delivery. This
leads to services being limited, low in quality and high in cost. ¥'v
= Rent seeking / special interest aroups / own interest v v
Individuals and enterprises influence government to act in their interest
e.g. profitable contracts, favourable regulations etc ignorance, personal
and hidden agendas, questionable motives improve the welfare of
someone at the expense of another. ¥+
« Serious structural weakness in the economy / Privatisation « v
This can result in social goals not being attained. v+
« Objectives are not attainable / overpopulation v'v*
employment, housing and feeding programmes not possible with limited
resources v' v
s Assessing needs » v
leads to under and oversupply v
« Pricing policy v+
problems in determining the price for public goods and services v'v 18]
(Any 4 x 4) [
Copyright reserved Pleasa turn over
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QUESTION 3
31 Choose the correct word(s) from those given in brackets:
311 Commission «+
31.2 cost-benefit analysis v'v"
313 imperfact v+
3.1.4 economic v« (4X2) (8)
3.2 With the reference to aligopolies, list any THREE forms of non-price
competition.
» Product recognition and differentiation v+
+ Extended shopping and business hours v+
+ Doing business over the internet v+
» After-sales service v+
« Offering additional services (free travel insurance by banks) v~
* Loyalty rewards for customers v v
s Door-to-door deliveries v+
« Building brand loyalty v+
+ Advertisements v'v' (&)
+ Accept any other relevant forms from an approved source (Any 3x2) [14]
33 Study the graphs below and answer the questlons that follow:
3.3 Externalities are benefits or costs resuiting from the production of a

Copyright reserved

goed that is not reflected in the price.
Accept any other definition from an approved source v'v'v

332 Graph A vv'v'

3.3.3 = Pollination of fruit trees by bees v'v'v'
= Public enjoyment of views of private buildings +'v'v'
» Flu injections affect those who do not pay for inoculation.
v
« Accept any other relevant example (any 2 x 3}

3.3.4 D4Dq/ Di¥v

(3
(3)

(6)

(2)
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436 Real GDP v'v'v | GDP v

335 DD represent the demand from individuals, ie. the private « used to describe business cycles v'v'
benefits gained from purchasing a particular good or service, and « used in forecasting v'v
SS represents the direct cost of providing that good or service. « indicate the importance of different sectors v v
The market equilibrium is given where S. and D, intersects « to compare economic growth with different countries v v (7)
v f Any (2x2=4)+3 [20]
If it were possible to quantify the external benefit associated with
the provision of this good or service the social benefit accruing to 4.4 Compare the South African growth policies with those of
society could be represented by DyDy /Dy v'v'v / international benchmarks.
If the external benefit were to be taken into account, the
equilibrlum would be with cutput Q4 selling at Py v'v'v Economic growth +'~
Accept any relevant example v« (3x2) (6) » South Africa is a developing country where a 3% growth rate is
[20] acceptable for a developing country; in terms of the World Bank a
lower-middle income country. ¥~
« Government abandoned anti-cyclical demand management in favour
of structural reform in 1996 as guiding principle in fiscal palicy. v+
= After the implementation of GEAR (1996}, the budget deficit reduced
to less then 3% of the GDP - accepted as benchmark, in line with
international best practice. «' v
« Government reduced deficit; limiting public debt — internationally
acknowledged for exceptional fiscal discipline. v v* (max 4)
Inflation '~
+ |[nflation decreased continuously from 9% in 1994 to 3 4% in 2005.
The SARB dropped monetary targets and adopted inflation targets,
initially in a 3% - 6% range. ¥+
» Interest rates, based on the repo rate, are the main instruments used
in the stabilisation policy. v+
s The consistently stable budget deficit also had a stabilising effect on
the inflation rate. v'v* (max 4)
Employment ¥'v
+ Employment in the nen-agricultural sector of the economy
decreased. v'v'
+ The GEAR strategy suggested that a climate was needed that was
conducive to employment creation by private sector, « v
= Private sector need to be more efficient to compete internationally
v
» Labour preductivity in the formal economy increased by 4,2% per
year over the 10 year period until 2005. v’ (max 4)
Copyrigt reserved Please turn over Copyright reserved Plaase tum aver
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QUESTION 4: LO3 ECONOMIC PURSUITS, AS1 - AS4 Exchange rate stability v+
s The South African currency depreciated considerably between 1984
41 4.1.1 monetary v'v' and 2002 - from 2005 it appreciated. v'v'
« International reserves increased from 3% of GDP in 1984 to 18.7% in
412 IDZ¥v 2005. The SARB switched from managed floating to a free-flcating
exchange rate system. ¥+
413 developing v « International benchmark: whether market forces determine rates —
SA complies. v+ (max 4) [16]
414 forced v'v' (4x2) (8) Accept applicable current economic examples or statistics. [50]
4.2 List any THREE characteristics of developing countries.
» Low standards of living / poverty vv'
» High levels of unemployment v'v
» Low levels of productivity v+
» High birth rates / overpopulation / v'v'
» Dependence on primary sector / agriculturally-based economy v'v
« Deficient infrastructure v'v*
= High mortality rate «'v'
+ |lliteracy / low levels of skill (education) v+
« Low social mobility v+
« Low per capita income v+
«  Malnutrition '+
« Strong attachment to tradition v+
s History of colonialisation v+ 3x2) (6)
[14]
4.3 Study the following graphs and answer the questions that follow:
431 Economic indicator is a statistic (figure) that shows the behaviour
of one or other economic variable / ecenomic indicator is a statistic
that measures some aspect of the economy v v (3)
Accept any other definition.
432 interest rates / repo rate / prime rate «+ (2)
433 Statistics SA/Stats SA v'v'
South African Reserve Bank/SARB/central bank v'v*  (Any 1% 2) 2)
434 An increase v'v'v’ (3)
435 Private consumption expenditure increases beyond the level of
GDP - the graphs mirror each other in this aspect because an
excessive demand for goods and services will lead to increased
imports to meet that demand «'v'v
Any other relevant explanation. (3)
Copyright reserved Please turn over Copyright reserved Please turn over
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QUESTION &
QUESTION 5: LO4 CONTEMPORARY ECONOMIC ISSUES, AS1 - AS4 L
B.1 6.1.1 indigenousv' v’
1 5.1.1 targeting v'v*
s geing 6.1.2 overconsumptionv' v
512 service v'v' 6.1.3 greenv'y’
513 hyperinflation «v' 614  Monetary Policy Committeev v (4 x 2) (8
5.1.4 revenue ¥'v’ (4x2) (8) 6.2 List THREE reasons for the existence of a public sector

5.2 List THREE groups disadvantaged by inflation s Market failure / inefficient resource allocation v'v*

» Provision of public goods and services v'v

*+ People on fixed incomes such as pensioners, social grants v = Problems with externalities require government intervention. .g.
= Creditorsv'v negative externalities - government restricting output « +
= People who hold money in a bank account or who have savingsv'v « Provision of merit goods - broad social benefit v'v"
* People who get wage increases below the inflation rate.+'v « Discourage demerit goods - taxes to discourage consumption and
= Poor/lower income groups v v production, ¥~
» Unemployed people ¥'v' (Any 3 x 2} 1{? + Prevention of monopolies or encourage competition. ¥ ¥
14 » Redistribution of income for the benefit of society. v+
+ Managing the economy/stabilising the eccnomy fenforeing a legal
53 Study the informatlon below and answer the questions that follow. structure v v (Any3x2) ﬁ)
5.3.1 Asgi-SA / GEAR vv' v (3) e
6.3 Study the table below and answer the questions that follow:
53.2 « Political stability v«
» Reliable and modern infrastructure v+ 6.3.1 Balance of payments is a record of the value a couniry's
» Efficient and refiable visa regime / uni-visa '+ transactions with the rest of the world ~'~* for a specific period v / {3)
s Airlift strategy v v (Any 2 x 2) (4) A record of a country’s imports and exports v for a specific
periodv
533 » avisa that is acceptable to all SADC-countries v'v'v' 6.3.2 + capital transfer account / capital account v'v'v
» acommon visa v (Any 1x 3) (3) + reserves account v~ (Any 1x3) 3
6.3.3 Portfolio investments v'v'v (3)
6.3.4 Historical importance of gold to South Africa v'v'v /
a major earner of foreign exchange. v'v'v (Any 1 X 3) (3)
534 ¢ Anincrease in disposable income v
« A reduction in working hours v+
+ More awareness of leisure and recreation v~
« Improved transport, communication and accommodation
facilities v+
+ |[ncreases in advertising and promotion v' v
« Awareness of the benefits of holiday and travel v+
» Ease of obtaining foreign exchange and making payments v+
» Globalisation v'v (Any 3x 2)
» Any other reason )
Copyright reserved Plaase tum over Copyright reserved Pleass turn ovar
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535 Households
* Increased incomev'v' 6.3.5 Inflows:
« Improved infrastructurev v 398532 m v
« Improved skills¥ v +35470m ~
« Create job opportunities +'+ +81363m~v
Any other suitable answer (Any 1x2) +40234mv
= 555589 m (max 4)
Businesses Outflows:
« Make a profitv v 476545 m v
« Employmentv v : ?;2 ggg m :,
+ Entrepreneurial development~ v m
e BEEvY + 16494 m (max 3)
=8B87979m
* ﬁg";"fj’ 565 589 m - 667 979 m = 112390 m v/
Any other suitable answer (Any 1x2) [égi o
398532 m v
5.4 Discuss pollution in terms of environmental sustainability. +35470m v
+B81353mv
= When people introduce waste matter into the environment, both directly +40234 mv
and indirectly ¥ v -476 545 m v
s Air poliution v -96950 m v
is the accumulation in the atmosphere of substances in sufficient -75990m v
quantities that damage human healthv v’ -18494 m
(e.g.) power and heat generation, ozone layer depletion v'v' = -112330m v B8X1)
climate changes + + {Maximum 4 marks, if all amounts have been added) (8)
Fund and Stock pollutants v
= Land pollution v+
is the degeneration of the sarth's land surface through misuse of soil '+ 6.4 Use appropriate examples and explain how indigenous knowledge
e.g. poor agricultural practices, mineral exploitationv v systems will promote tourism in South Africa.
will have a negative effect on food production and eco tourism « +
Pollution has a detrimental effect on the ecosystem.v v « Tourists want to have an understanding of indigenous cultures, history,
One of the greatest causes of pollution is the high rate of energy used by environment and how people live v+ explanation v+
modern, growing populations v ¥ « Indigenous knowledge systems (IKS) are crucial to the development of a
+ Water pollution »+ common consciousness and pride among the people of Africav’v
is the introduction into fresh or ocean waters of chemical, physical or + Anawareness of the life, customs and beliefs, religion, ceremonies and
biclogical materials that degrade the quality of the water and affects the rituals of the peoplev'v
organisms that live therev' v + The arts, music, dance, writing, songs that people createv'’
e.g. industrial affluents, mining wastagesv v + Values- the gualities we consider to be important, such as honesty and
= Noise pollution v v respect for other peoplev’v’
Excessive amounts of noise pollution will lead to detrimental effects on all » Woays in which we behave, as groups or individuals+'v"
participants in the economy v+ [16] » What we wear, what we eat, where and how we live, the language we
s Listing of facts — maximum B marks. 8X2) speak, the things that make us happyv'v
[50] » Objects that are assoclated with ceremonies and ritualsv'v’
(Any suitable examples) B8x2)
(Listing maximum 4 X 2) [16]
[50]
TOTAL SECTION B: 150
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SECTIONC

Answer any TWO questions from this section in your ANSWER BOOK.

I Essay responses must include an introduction, body and conclusion:

»  For the introduction and conclusion 5 marks will be allocated.
+ In addition, 5 marks will be allocated for the interpretation of the topic.
» A maximum of 40 marks will be allocated for the body.

Il, Other long responses:

* 5 marks will be allocated for the interpretation of the topic.
« A maximum of 45 marks will be allocated for the body / discussion.

1. Long responses where a letter is required:

+ 5 marks will be allocated for the format of the letter, as follows:
o 3 marks for the salutation
o 2 marks for the clesing

= 5 marks will be allocated for the interpretation of the topic.

» A maximum of 40 marks will be allocated for the body.

NSC - Memorandum

There is a flow of money and goods and services between the household sector
and State. v~ Household sector provides the state with labour and receive
income.v'¥ The state provide the household with public geods and services
v'v(e.g.) parks, hospitals v'v* for which they pay taxes.v'v This is income for

the state.v' v

There is a flow of money and goods and services between the business sector
and State v v The business sector provides the state with goods and services for
which the state pays.v+¥ The state provides the business sector with public
goods and services for which they pay taxes.v'v

There is a flow of goods (imports) to the business from the foreign sectorv' v
which the business pays forv'v". This will be regarded as expenditure for the
business v v There is also a flow of goods from the business to the foreign
sector.v’v" This will be income for the business.»"~

The financial sector consist of banks, insurance companies and pension

funds.v' v They act as a link between households and firms who have surplus
money and others in the economy who require funds.v'v'The money which
households and firs provide to the financial sector is known as savings.v'v’ The
spending on capital equipment by firms is regarded as investment v+ (max 24)

MULTIPLIER EFFECT

The multiplier relates to how much national income changes as a result of an

injection or withdrawal such as an investment. '+

Initially there is an increase in injections into the economy (investment,

government spending or export), which would lead 1o a proportionate increase in

national income. v’ v

The extra spending would have knock-on effect and create even more spending
oo

The size of the multiplier will depend on the level of leakages. v+

» (E.g.) assume firms increase investment spending by R1000. This is done by
ordering capital goods from domestic firms to the value of R1000.v'v

» Total spending has increased by R1000. Total production has increased by
R1000, which also leads to an increase in R1000 in income. The increase in
spending = the increase in production which = an increase in income.v"v"

+ When households earn income {R1000) leakages can oceur, through income
tax, savings and spending on imports.~'v If this amounts to R300, then
spending on domestic goods will increase by R700. At this stage the multiplier

starts fo kick in.v'v (max 10)
(45)
Application of the formulas, the graph and correct explanation to a maximum of 10
marks
CopyTiont Ireermd Pissse i Syst Copyright reserved Pleass turn over
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QUESTION 7

An open economy circular flow model illustrates the economic interaction between the
four participants. Describe this interaction in detail with the aid of a diagram, which
includes injections and withdrawals.

Conclude your answer by explaining how one individual's spending becomes another

person's income (the multiplier). (max 10)

CONCEPT

The circular flow model of the economy is a simplification showing how the
economy works and the relationship between income, preduction and spending in
the economy as a whole. The circular flow model of an open economy shows the
workings of an economy that is open to foreign trade. It is different to a closed
economy because it includes the foreign sector.v'v'v' (max 3)
Accept any other appropriate explanation of the concept.

BODY

PRODUCTION TACTORS |_B0O0DS AND SERVICES
BUSTHESS. 1

SECTOR

Cpe
on producrie
tuctars ry

Public sorviges

FACTOR
M ARKET Production

Tuctars

Public serviges e
Income(T)

(Wages/inmeresiiant /prafin

HOLI3S NET3N04

(R — =
expendinre (C) [ NOTE 1

Luohager - 1.5 ume M
E000s ANE SERVICES § St R

FRODUCTION FACTORS

The four secter open econamy model

Participants =4 X 1= 4

Injections =1X1=1 |

Withdrawais =1 X 1 =1

Gorred! indication of money and real flow
(1X2=2

‘ Total = 8 marks

(Accept any other well-labeled diagram max 8)

There is a flow of money and goods and services between the household sector
and business sectorv v Households earn income in the form of wages by
selling their factors of production to  business.«'v* Business use factors of
production to produce goods and services on which the household sector
spends¥’v Thus the business will receive income.v'v

[50]
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Use the following assessment grid in conjunction with the above to assess the
discussion:

MARKS INTERPRETATION OF TOPIC

0 Candidate has shown no understanding of the topic.

1 Candidate has shown some understanding of topic but has missed
important aspects of topic. (1-15)

3 Candidate has interpreted topic correctly but has not linked facts to
topic. (16 - 30)

5 Candidate has interpreted topic correctly and has linked facts to

topic. (31-45)
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QUESTION 8

QUESTION 9
'‘Markets are at the centre of economic activities and provide the dynamics for the
performance of economies.’ "The opening up of foreign trade ... sometimes works a sort of industrial revolution in a
country whose resources were preciously underdeveloped,'
Discuss perfect competition as a market structure with special reference to the
definition and characteristics. Discuss the arguments in favour of a policy of protection and critically evaluate the
South African international trade policies and major protocols regarding free trade. [50]
Conclude your discussion with reasons why you would not participate in the market
under conditions of monopolistic competition. {max 10) [50]
DEFINITION: Pratection is the application of a trade policy whereby the state
discourages importing of certain goods and services with a view to protecting home
industries against unequal competition from abroad. v+ v

Definition:

It is & market structure with a large number of participants who are price-takers, there
are no entry or exit barriers in the long run, all information is available to both buyers
and sellers and a homogenecus productis sold  OR

A market in which the conditions for perfect competition are satisfied OR 1. Raising revenue for the government: v'v'
Perfect competition occurs when none of the individual market participants can

ARGUMENTS IN FAVOUR OF PROTECTION

influence the price of the product v'v'v’ Max (3) » In developing countries the tax base is more often limited because of low incomes
of individuals and businesses +'v'
Accept any other definition. + Low incomes do not provide much in form of income taxes v'v*

» Customs duties on imports — significant source of revenue v'v'
Characteristics:

2. Protecting the whole industrial base: v
= Many buyers: ¥'v The number of buyers in the market is so large that
individual market participants are insignificant in relation to the market as a
whole, ¥'¥ This has the important implication that no individual buyer is able

to influence the market price. v+ + Maintaining domestic employment / reduce unemployment and provide more job
opportunities v+

FOUR considerations relevant for protecting industrial base of country:

= Many sellers; ¥'¥' The number of sellers in the market is so large that the

individual seller cannot influence the market price (price takers). v'v - countries with high levels of unemployment — pressurized to stimulate

employment creation v'v
protectionist policies used to stimulate industrialisation v
- domestic employment encouraged through imposing import restrictions v+

= Homogenous product: ¥+ All the products sold in the specific market are z
homogenous, ¥ ¥ that is they are exactly the same regarding quality,
appearance, ect. It makes no difference to a buyer where or from whom he/she

buys the product, ¥+ » Protecting workers v+

* Freedom of entry / exit: vv There is complete freedom of entry and exit, that
is to say the market s fully accessible.v'v'  Buyers and sellers are completely
free to enter or to leave the market. Entry should not be subject to any
restrictions in the form of legal, financial, technological or other barriers that
curtail the freedom of movement of buyers and sellers. v v’

* Mobility of factors of production: v'v" All factors of production are completely
mobile, v'v in other words labour, capital and all other factors of production can
move freely from one market to another, v'v*

* Perfect Informatlon: v'v" Both buyers and sellers have full knowledge of all the
prevailing market conditions. ¥'v* For example if one business ventured to raise

its price above the market price, buyers would immediately became aware of it
and would switch their purchases to businesses who still charge the lower

- countries with low wages represent unfair competition and threaten the
standard of living of more highly paid workers +' v

- protection necessary to prevent local wage levels from falling v+

- helps protect local businesses from closing down or becoming unprofitable v v

Diversifying the industrial base v+

- protectionism helps countries not to over-specialise v'v
- import restrictions may be imposed on range of products in order to ensure that
number of domestic industries develop v v

price. v'v'
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= No collusion:¥ ¥ Collusion between sellers does not occur. ¥+ In a perfectly
competitive market, each buyer and seller acts independently from one another.

Economics 21
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Collusive practices are illegal in South Africa, according to the Competition Act (28) * Developing strategic industries '
Lo - certain industries of strategic importance eg agriculture and energy v~
= Unregulated market: ¥+ There is no government intervention that could affect * deyeloping countries need o develep fhesn industias o hatam ssi-
buyers or sellers. ¥ Decisions are left to individual sellers or producers and sufficient +
buyers. v'v
3. Protecting particular industries: v+
= No preferential treatment (no discrimination) v+ nobody is advantaged ;
above the others v'v’ * Dumping ¥
« Efficient transport and communication: v+ Makes access to and from o CIL!E to gnvernment‘subs‘idie‘s gnhgrprises are permitted to sell at very low
markets possible. v+ Max 8 x 4 (32) prices — leads to price drscnml_natlon Vi ) )
o products can be exported to dispose of accumulated stocks — importing
country will benefit « v
Monopolistic Competition o objective can also be to drive out domestic producers and gain strong market
Disadvantages for the firm and consumer position — consumers will lose out due to reduction in choice v'v*
Consumers pay & higher price under monopolistic competition v+
Output of monopolistic competition is less than that of the perfect competitor. v'v' » Infant industries / Industrial development v+
Monopolistic competitor is unable to produce at the ideal production levels v+
Monopolistic competition is therefore neither allocatively nor preductively efficient < newly established industries suffer to survive due to higher average costs
Inefficient use of resources in the case of monopolistic competition — perfect o competition in the early days makes growth possible, they can take advantage
competitor produces more at lower prices — therefore mare efficient in the use of of economies of scale, lower average costs and become competitive —
resources vv pretection can now be removed « v
Market information on monopolistic competition is incomplete v v
Max (5 x 2) » Dedlining industries +'+*
Use the following assessment grid in conjunction with the above to assess the c s}tructural changes in demand and supply may influence industry negatively
discussion: v
{(10) o these busin_esses must leave busi_nes$ gradually — possihlel if pmt(?.‘ctiom is
MARKS INTERPRETATION OF TOPIC [60] granted — gives factors of production time to move to other industries~’
0 Candidate has shown no understanding of the topic. o they lost their comparative advantage — may lead to large scale unemployment
1 Candidate has shown some understanding of topic but has missed | e
important aspects of topic. (1-15) .
3 Candidate has interpreted topic correctly but has not linked facts to 4. Protecting domestic standards v'v’
tgg,l,%;dam has interpreted topic correctly and has linked fact(sﬁ B » Trade restrictions like food safety, human rights and environmental standards v v
5 topic. (31-45) « Stabilising exchange rate and balance of payments «
o = Protecting natural resources from being exploited v'v*
« Economic self-sufficiency v+
« Greater economic stability +'v’
+ Natural resources not depleted v'v’ {Max 35)
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CRITICAL EVALUATION OF SA FREE TRADE: QUESTION 10
= SA part of customs union since 1810 — various protocols now replaced by SADC 'South Africans are getting stronger. Thirty years ago it took five people to carry fifty
protocol — progress made towards strengthening bilateral ties with main trading rands worth of groceries. Today a child cando it Anonymous

partners — has taken form of free trade area (FTA) protocols. ¥'v*
Write a business letter to the Governor of the Reserve Bank, explaining the causes in

« South African Customs Union — members currently jointly negotiate FTAs with the general and the impact of inflation especially on the poorest of poor, Conclude your

rest of the world like European Free Trade Association. ¥ v letter with possible measures to combat it.
= South African Development Community (SADC) presently has status of FTA — 87 Address: ]

% qualifies for duty-free access to SA — should be fully liberalized by 2010. ¥ SA Reserve Bank, PO Box 427, Pretoria, 0001. [50]
s African Union is developing continent into economic and menetary union - Address of Sender

adopted Nepad as strategy — first phase to develop 5 regional FTAs — SADC is one 3 Lane Road

of the FTAs. v+ EXAM FOUNTAIN v

000z

s European Union-SA FTA entails freeing of tariffs — 95 % of EU imports from SA by

2010 and 86 % free of tariffs on imports from EU over 12 year period. Trade, Date 12 November 2008 «

Development and Cooperation Agreement implemented in 2000 established free

trade between SA and EU. ¢ v Address of Recipient

The Governor

» Mercusor — SA signed a Framework Agreement with Mercusor in 2000, to expand SA Reserve Bank 4

trade and create free trade area between parties (Latin America) — eventually FTA PO Box 427

will include all SACU members v v PRETORIA

0001 (Structure of formal letter: max 5 marks

« WTO promotes free trade — persuades countries to abolish import tariffs v T Salutation: 3 marks Closing: 2 marks)
= Trade with Indian Ocean Rim Association for Regional Cooperation (trade with )

India, Malaysia and Japan increased) vv' RE: INFLATION v'v'v'/
« SA signing Marrakesh Agreement to liberalise international trade by lowering import Accept any relevant introduction.

: T
tariffs and barriers CAUSES

« Cotonou Agreement — SA member of ACP (Africa, Caribbean and Pacific) Group

v 1. Increase in the money supply v'v'
» International Trade and Economic Development Division of Department of Trade - ] = - ] .
and Industry increase SA access to markets worldwide — on preferential terms v« = Ahigher Increase In the supply of money in circulatian in the market than In
(Any 5 X 2) supply of goods and services. vv

There is more money available to buy the same goods. v'v
If the supply of goods does not increase (increase in productivity) sellers will want
more money for their goods because buyers are willing to pay more. v~

(10)
[50] 2. Demand-pull / demand inflation v v

» Certain causes of demand pull inflation include an increase in the disposable
income of households.v v

* Availability of credit from banks, credit cards and personal overdrafts, increasing
demand.v'v'

« An increase in the economically active population Increasing the demand for
more consumer goods. v'v’

Copyright reserved Please turn over Copyright reserved Please turn over

Economics 23 DoE/November 2008 Econamics 25 DoE/November 2008
NSC - Memorandum NSC — Memoranoum

Use the following assessment grid together with the above to assess the discussion:
3. Cost-push / cost inflation v

MARKS INTERPRETATION OF TOPIC
0 Candidate has shown no understanding of the topic. » Certain causes of cost-push inflation are supply shocks, such as a sudden
1 Candidate has shown some understanding of topic but has missed increase in the price of oil.vv
impartant aspects of topic. (1-15) » A sudden rise in interest rates.v'v"
3 Candidate has interpreted topic corractly but has not linked facts to » Anincrease in factor prices, such as the cost of labour or land.v'v* (max 12)
topic. (16 - 30)
5 Candidate has interpreted topic correctly and has linked facts to IMPACT ON THE POOREST OF POOR
topic. (31-45)
1. Purchasing power of money «'v
« |Increase in prices e.g. basic foodstuffs, will decrease the purchasing power of
money v'v’
= Poor people depend on pensions and social grants which dees not increase at the
same rate as normal wages v+
2. Income and wealth v'v
+ The poor suffer most from inflation because their meager incomes buy
continuously less v¥
= Price increases affect people whose incomes are relatively fixed (remains
constant). v
3. Social impact v'v
» Violence and crime will affect society at large v' v
» Health issues like malnutrition, HIV/Aids v
+ Low standard of living (like lack of housing and basic services) vv
« Family imbalances v+
« Accept any other relevant facts (max 16)
CONCLUSION: MEASURES
1. Monetary policy v+
» The monetary autherities can raise interest rates and reduce the money supply.v'v*
= This raises the cost of credit and also reduces the availability of credit to the various
sectors of the economy. v v’
= \Various instruments can be used to accomplish this, namely, increasing the bank
rate (repo rate) and encouraging savings.v'v'
s The monetary authorities can apply moral pressure on financial institutions to be
more careful when granting credit.v'+
+« The monetary authorities can relax exchange controls as a measure to combat
inflation.»"v*
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2. Fiscal policy v'v'

+ The minister of finance uses policies of taxaticn and expenditure to control
inflation¥"v

» This reduces the demand for goods but also has a negative effect cn employment
and production v'v

» Indirect taxation such as VAT, or customs and excise duties can be increased v+

» Imposing a surcharge (increases imported goods prices) on imported goods can
help to control inflation v+

» Protection measures may also be taken to protect local industries against unfair
foreign competition v'v'

3. Structural (supply-side / general / other / non-monetary / non-fiscal) measures v'v'

= An effective combination of both fiscal and monetary measures is used to combat
inflation v'v*

« Increase in productivity by increasing better feaching and training « v

» Encouraging personal savings, which could increase the supply-side of the
economy and reduce demand v+

* Implementing wage restraint policy '+

» Stricter conditions for consumer credit v v

+ When the market system (demand side or supply side) does not function properly,
inflation is often the "price” we pay. v+

+ Curtail borrowings v+

+ Selling of retail savings bonds v+

« Loan levies by SARS v+

Closing e.g.
Yours faithfully v

Signature v
Name

Use the following assessment grid in conjunction with the above to assess the

discussion:
MARKS | INTERPRETATION OF TOPIC ]
0 Candidate has shown no understanding of the topic. | (5)
1 Candidate has shown some understanding of topic but has missed [60]
important aspects of topic. {1-15)
3 Candidate has interpreted topic correctly but has not linked facts to
tapic. (16 - 30)
5 Candidate has interpreted topic correctly and has linked facts to
topic. (31-45)
TOTAL SECTION C: 100
GRAND TOTAL: 300
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